Name: ___________________________					Unit 5 Study Guide Division

1. What is the value of the expression? 3,484÷ 13?



2. The Franklin Academy Flag Football team has 16 home games scheduled this season. All of the games have the same number of tickets available. There is a total of 416 tickets. How many tickets are available for one game?


[bookmark: _GoBack]3. John has a set of books. When he separates the books into groups of 85, he has 16 groups of books. How many groups of books would John have if he separated them into groups of 5 instead?



4. .The area model below shows a way to solve 4,048 ÷ 16 using place value. The 3 partial quotients missing from the model represent hundreds, tens, and ones. 

[image: ]
To find the quotient, the 3 partial quotients are added together. What is the quotient?




5.  Each of the 234 elementary school students attending the Character Counts lunch gets a donut. Donuts come in packages of 12. How many packages are needed so there are enough donuts for every student?
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a 25 isllnof 250. OTrue OFalse
b. 40 isﬁof 400. OTrue OFalse
€.500is % of 50. OTrue OFalse
d.7is o0 700. OTrue OFalse

€.25,000is ﬁ of 2,500. OTrue OFalse

10.The area model below shows a way to solve 4,048 + 16 using place value.
The 3 partial quotients missing from the model represent hundreds, tens,
and ones.

To find the quotient, the 3 partial quotients are added together. What is
the quotient?

11.What is the value of the expression? 3,484+ 13?

12.Which statement is correct?

A.The 2in 3,257 is = of the value of the 2in 35,204.

B.The 3 in 3,896 is 1 of the value of the 3in 5,539.
C. The 4in 3,489 is 7o of the value of the 4 in 45,708.
D.The 5 in 3,457 is 1 of the value of the 7 in 35,987.
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6. Joseph was showing how he solved a division problem with the area model below. His
little sister placed a sticker on some of his work.

What s the divisor that is covered with the sticker on the left side of the model?

27
37
47
243

What is 2,597 divided by 53?

45
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What s the divisor that is covered with the sticker on the left side of the model?

27

37

47
243

What is 2,597 divided by 53?

a5
49
57
59
A number divided by 56 has a quotient of 23 with a remainder of 2. What is the
number?
868
1,280
1,288
1,290
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